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Polygon Unit Test Review 2016 Schmidt

Directions: You must show all work for all problems below. For the problems where you have a
quadrilateral and use their properties, justify the set up, and provide the geometry. (Some may not have
the information to do everything i.e. if no points are there, you cannot show the geometry). Failure to do so
will result in a zero.
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1. Find the sum of the measures of the interior angles of a convex b gon S =150 (N-2 )
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2. Find the sum of the measures of the interior angles of a convex 26-gon.
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4. For parallelogram RSTU, find mZRSU and m£/RUS.
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5. Solve for the missing angle or variable for the following PARALLELOGRAMS.
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7. ABCD is a square. If AC = 16 and BD = 2x + 4, find x.

Geometry: Justify:
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8. Rhombus Practice:
a.) For thombus ABCD, m£8 =35, find the m£1, m£2, mZ3, mZ4, mZ5, m£6, and m/7.
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b.) For rhombus GHJK, find m/£1
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9. ABCD is a rectangle. If m£1 = 20, find the m£2, m/3, m/4, m/5, and m£6.
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10. For isosceles trapezoid CDEF, find m/F, m/E, m/D, and EF.
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11. Find all of the missing angles.
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12. LK is the midsegment of trapezoid HINM. Find MN if HJ = 5 and LK = 25. \
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13. For isosceles trapezoid GHJK, find <1.




14. Given isosceles trapezoid ABCD, EF is the Hﬁidéégmént. Find EF, AD, and m<AEF if AB=10, CD =20, AE=y + 5,
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L , AE=I5+5 apa LA
=710+ 2.0)
A“‘éﬂm“ i \ f”\ gE=20
L A U) [ AD = A0 |
Urs = akﬁ -{ D AD =40 |
' oo

o, 3 el A J) / A
LPOFE =2 LACF
- " -

7 DA ( / . o ) ) |
| - . \ 7\ a AL { . a ( <
1 N . \ | O § (. N { \ 'Y 7 4
'4! L] w{, / ‘,‘ (!“;',' , \ ' RN S A SR ;,/41 i
- '

LA D

20=11%" con. int <s of trop. o Suqapl
< QNO=90" con. LD ot Svqeal.

F;MNCS) =39S ° A Suve
B ¢

m=
16. Write geometric statement along with the correct justification for parallelogram ABCD. M
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17. Use rhombus PLAN to write the correct geometric statement (if needed) and justification.
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18. Use rectangle RECT to write the correct geometric statement (if needed) and justification.
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19. ABCD is a quadrilateral with the following information. Determine if ABCD is a parallelogram,
rhombus, rectangle and/or square.

Slope AB=-1/5 Slope DC =-1/5 Slope DA=3/2  Slope BC=3/2

AB =26 DC=v26 DA=V13 BC=V13
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20. ABCD is a quadrilateral with the following information. Determine if ABCD is a parallelogram,
rhombus, rectangle and/or square.

Slope AB= -3 Slope DC = -3 Slope DA =£> Slope BC=1/3
AB =210 DC=2V10 DA=2Y10  BC=2v10
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21. ABCD is a quadrilateral with the following information. Determine if ABCD is a parallelogram,
rhombus, rectangle and/or square.

Slope AB=4/3 Slope DC =4/3 Slope DA = undefined Slope BC = undefined

AB =5 DC=5 DA =5 BC =5
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22. ABCD is a quadrilateral with the following information. Determine if ABCD is a parallelogram,
rhombus, rectangle and/or square.

Slope AB= -2 Slope DC = -2 Slope DA=1/2  Slope BC=1/2
AB =213 DC=2V13 DA=2v5 BC =2v/5
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1.%5.

éé Classify QRST with vertices Q(-5,7), R(-3, 4), S(3, 8), and 7(1, 11). SHOW ALL WORK!!!! Show all
distances, all slopes, find them and perimeter of the figure.
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20. Classify ABCD SHOW ALL WORK!!!! Show all distances, all slopes, find the area and perimeter of the figure.
1 - Yope. B = 4 S =7

| B(-3, 1);_./”*5“1’3}_ Slope. RO = —% = -2
Slope A =

| S\W—Q_ eb =

i
ZaN
o
=
xy
L J:\P

2. ke
~ 2
-
-

“ _ | PV%: &(—6 )EC:Q@_
| AD=2(c cd=als

7

,\,

Adisyanly .

§(.

ABCD _ |- a parallelogram because | \"‘x TTAVAY N Y

ABCD i a thombus because O)\,\,\ "\ S\ M M ( d(&*ﬁﬂ@.&)

ABCD :“-) a rectangle because Q\\ L‘\ r\ GY\‘\' /\S ( _L &\ODQ(S)

ABCD a square because | U\ g AY ( ‘l) § IP Oonol ol | ¢ L { N t

\
¢ \ ‘
- oliIStanee )



